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Agricultural Productivity

« Are farmers removing more nutrients from
the soil than they are applying?

 AND IF farmers are removing more
nutrients than they are applying —
— What is happening to soil organic matter?
— What is happening to long-term productivity?
— Is a nutrient imbalance sustainable?




U.S. Nutrient Use
Nitrogen Phosphate Potash
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Source: The Fertilizer Institute and the Association of American Plant Food Control Officials.

Commercial N Application Rates on Corn, Avg for U.S.
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Lbs. Commercial Nitrogen Fertilizer Applied per Bushel of Corn Produced
(5-yr running average for U.S.  Data Source: USDA NASS)
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Wisconsin-- N-Fert Rate & N in Harvested Grain
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Lb-N/ac in Harvested Grain
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Agricultural Productivity

» We think the net nutrient balance is near
zero — if this is the case — are there excess
nutrients in the system? And if there are —

* Where is excess N coming from and how
can it be mitigated without significantly
impacting food, feed and fuel supplies?




Agricultural Productivity

» What happens to agricultural productivity if
rates stay the same or are reduced from
current levels and what evidence exists
that nitrogen in the river will be reduced?

* Does Agriculture have the research base
to make further improvements?




